Aufgabenblatt: Bruchagleichungen

Aufgaben:
1 3 5 3 3
a) S-—2=+ S
3 5 7 1 1 1 1 13
o xt3 =0 DTttt
9 3 _ 5 _ 8 _ 1.1 1 B o 2X=10 _ 20—x
4x 14 TIx  x 4 14x 3x  2x
4 5 16
2. a) x—1 b) ox+4 c) 1—x =4
25 18 2 5
d) X1 3 =5 e) % —6=0 f) <—3 +3—0
4 1 2 3 15 20
89 3% =% b) Y77 = %=1 ) o+ 3x
2 1 3 4 13 1
) x+3 ~ x+1 ¢) x+7 = x+1 D 2x—3 x+3
X x—3 X+ 4 2x+5 X+2 2—x
A T T xs b) T3 = Tox 9 3=3 " ox
x—3 3x—7 3x+4 2x 3x—7 5x—5
D33 T E=1 O )  Txx1 ! N = =37
3 7 3 5 5
9 <=5 2= 39 "N xrz i1 2
5. a) 15 4 5 by 2x+4 3x—1 _ 15x+6
) x—2 x+2 x2—4 3x+4 ' 3x—4 9x2—16
1 1 2 7 4 3
6. a) x+3 + x—5 x—3 b) X x+12 x—9 =0
LAy 3 5x+2 1 x+4 by —1 8 _ 8
) 3x2—27 90—30x 3 6x+18 2x2—x  4x2—1 ~ 2x® +x
8. a) 2 1 _2 38 b) 6x—7 5 1
x+1 x2 X (x+1)2 x2—20x491 x—13 x—17
Losungen:
{&) (@ ¥~} (e g
{g} (q {1
{o¢} (g {6} (e 9
{8} (g {e—} (e ¢
€W {&} (6
&6 —1 {a} (p {81} (@ £} @ {9} (e p
{8} G4 {s} (@ {1} (@ ¥} (0 {8—} (g {e—} (e ¢
£} 0 {r} (o {1} (p {e—} (@ %@ {s} (e g
{8} ¢ {1~} (e {3} (p & £ (g v} (&1

=0



